Maximum force, rod sealed - Maximale Kraft, Kolbenstange dichtung
Forces maximale, joint de tige - Maxima fuerza, estanqueidad vastago - Forga maxima, estanquidade na haste

1

10

‘Available versions

Standard code

Body
7}

Model

| GSML300
. GSML500
. GSML1000

'GSML1000N

' GSML1800

'GSML180ON

' GSML3000

' GSML3000N

 GSML4700

' GSML4700N |

' GSML7500

' GSML7500N

 GSML12000

' GSML12000N |

Add "-N" to standard code

5 Self contained “ Linkable 5 L

Over

Stroke
Active
Safety

Uncontrolled
Speed
Active
Safety

\ Al )
Over
Pressure
Active
Safety
- ¥

Easy ‘
Manifold
Stroke
Cu
inch mm inch
098 10 - 80 0.39—3.75§
126 10- 80 0.39—3.75§
150 10- 80 0.39-3.75§
150 10- 80 0.39—3.75§
197 15-80 059-315
197 15- 80 0.59-3.15§
248 15-80 059-315
248 15-80 (059-315
295 15- 80 0.59—3.15§
295 15- 80 0.59-3.15§
34 15- 80 0.59-3.15§
374 15-80 059-315
472 15- 80 0.59—3.15§
472 15-80 059-315

o
Add *-E"to standard code . Order Callout Example:

. GSML1800-50
. GSML1800-50-N
. GSML1800-50-E

Initial force

FO

daN b

310 697

510 1147
980 2203
980 2203
1925 4327
1925 4307
3180 11071
3180 11071
4925 11071
4925 11071
7700 17310
7700 17310
12720 28595
12720 28595

1 Retaining ring
2 Dual ring seal

3 : Bottom base
4 Plug
5 Valve
6 Body
7 Guide ring
8 Rod seal
9 Back-up ring
10 Rod wiper
""1771”7”R0d (nitrited superfinished)
' SEALING ROD SEAL
DESIGN

[$2




GSML 360

M4 X 7 (2x) 014 r
7.5 £
‘ ‘
= | Bottom mount
© ‘ N OQO F oo oo o
g *Fiy= **F1, =
! ! Isothermal Polytrophic
! endforce TCF p.16 <0 end force
§ = | at 100% Cu at 100% Cu
H|H [ :
N I @
7 — !
2 i
|
™ i
"' Through plate |
&
AN M6
025+03
7 .98 + .01

GA Ly % © A Pmax  Pmin 8§  SPM MaxSpeed Maintenance kit
i i < 5 _— 200 bar ! 20bar © 154cm? | ~40-80 | i ,
N 5§ g c0mWC g maw  ome  aavn M Dmade
CALLOUT G L Lmm F  Fy, F, . Vo BEn
! i i i i i i p i i ] !
. Initial force §Endforce* §Endforce**‘ @ @
. mmwh mm mh mm o ch daN b daN | b daN b om i’ -y b DR
GSML300-10 0 039 75 295 65 256 410 7 424 94 476 100 70 043 007 05 v
GSML300-15 15 059 85 335 70 27 .59% 460 104 524 1178 90 055 018 040 v
GSML300-25 25 098 105 413 80 315 500 7143 592 1331 120 073 021 046 v
GSML300-38 38 750 130 5120 92 362 200bar | 555 1248 658 1479 160 098 024 053 v
GSML300-50 50 197 155 610 105 413 2900psi | 572 1286 682 1533 200 122 027 060 v~
GSML300-63 63 248 185 728 122 480 560 129 678 154 260 159 031 068 v
,,,,,,,,,, GSML300-80 | 80 315 220 865 10 55 *20°C6F 5pq i3r3 699 157 320 195 035 07 v
Order Gallout Example:
GSML300-50
GSML300-50-CP
GSML300 GSML300
§ 407 / % j:: )
% 8 407%
STROKE [mm] STROKE [mm]

s



GSML o086

M5 X 7 (2X) 018
0.71
f |
=
(&) I ©
i NS Bottommount ~ FSA32 - FSD32
e
. *%* —
i : F1p_
| i Isothermal Polytrophic
4 ™\ 9 = | i end force [ = p.16 <O endforce
A oo S| |  at100% Cu at 100% Cu
— = ' :
= !
- !
|
"' Through plate !
|
|
e
035 "6’ e
Drop-In 03203
- / 01.26 +.01
@g’;g;‘g'AP'Pmax' """ Pmn S  SPM MaxSpeed Maintenance kit
§ P oo | 200bar 20bar | 254cm® | ~40-80 i ;
N 5§ somwt e | oasi oy MM  Dewmade
CALLOUT Cu L L min Fo  F, . F Vo PED
Initial force + Endforce ~ : End force | —
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, mm  inch mm ich mm nch daN | b daN | b daN b omt in? kg b TVWE
GSML500-10 10 039 75 295 65 256 g g4 708 1992 796 1789 110 067 028 062 v
GSML500-15 15 059 85 335 70 27  .59% 763 1765 871 1958 140 085 030 066 v
GSML500-25 25 098 105 413 80 315 835 187 911 2183 200 12 034 075 v
GSML500-38 38 750 130 512 92 362 200bar | 902 2028 1065 2394 270 165 039 086 v
GSML500-50 50 197 155 610 105 413 2900psi 923 2075 1095 2462 350 214 043 095 v
GSML500-63 63 248190 748 121 500 _ 881 1987 1035 237 470 287 051 112 v
,,,,,,,,,,, GSML500-80 | 80 315 25 885 M5 571 *PCH6T ooa opmp w069 208 570 348 057 126 v
Order Callout Example:
GSML500-50
GSML500-50-CP
GSML500 GSML500
§ 709 3 § 809
L=
'STROKE [mm] STROKE [mm]

s



GSML 1008

M6 X 7 (2x) 025
0.98
‘ \ %
3 | -
o = Drop-In Bottommount ~ FSA38 - FSD38
b
! - *F1;= **F1, =
| H
gl ‘ ! Isothermal Polytrophic
KA a5 .84 ) 3|3 : endforce 0C5 p.16 S0 end force
4 c | i at100% Cu at 100% Cu
2, E i ‘
i
~ i
"' Through plate |
i
$¥
+03 — M6
B4 o 03803
\_ Drop-n ) 01.50 = .01

§<;£§°F¥°°§APEPmaxE """ Pmin =~ S  SPM MaxSpeed Maintenance kit
| N2 ' '

B o i 200bar | 20 bar i 491cm? | ~40-80 :
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, o O3 oo 2o0ps | otie ooy O™ GSRK-SOBMMLOOOOC

CALLOUTﬁ G L Lmm F  Fy . Fy . Vo @ PED

Initial force §End force 3End force

: : : : : | I
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, mm o mmich mmch daN b daN | b daN | b om i’ -Kg b "R
 GSML1000-10 10 039 75 29 65 256 gy s 1371 3081 1542 3467 220 134 037 082 v

GSML1000-15 15 059 8 335 70 276 45y 1500 3372 1719 3864 270 165 039 086 v
GSML1000-25 . 25 (98 105 413 : 80 315 1687 3793 1981 4453 . 360 220 045 099 v
GSML1000-38 38 150 135 531 97 382 200bar 1768 3974 : 2095 4710 520 317 053 117 v
GSML1000-50 50 197 160 630 110 433 2900psi 1854 4169 : 2220 4991 640 390 060 132 v~
GSML1000-63 | 63 248 205 807 142 559 _ 1708 3839 2010 4519 900 549 073 167 v
GSML1000-80 . 80 375 240 945 160 630 *20°C8F 1700 oo 107 4782 1070 653 082 181 v

Order Callout Example:

GSML1000 GSML1000
1982 2382
50 50
80 2182
1782 38 38 w
z 25 63 z 25
5 5 1982
8 8
2 1582 2
5 15 § e
g g 0
g o 10 S 1582
£ 5
2 Q 1382
1182
1182 W
982 982
0 5 10 15 2 25 3 3 40 45 50 55 60 65 70 75 80 85 0 5 10 15 2 25 3 3 40 45 50 55 60 65 70 75 80 85
STROKE [mm] STROKE [mm]

@



GSML 1668 N

—Linkable G1/8"—

™~ wu\j » 0 25 =
mr G1/8 7.98 E
M6 x 5 5 _ | £
S © |
: o < Bottom mount
i
M6 X 12 (4%) i
i
Q= \
(A e ) S i
p.84 HI | FFCA3S - F138
i £ | FFC3g-FTP3g  FOAJS-FSD38
2 S N
- | 033  *Fi= **F1 =
™' Through plate 1 71.30 i .
| i Isothermal Polytrophic
0| PR endforce (5~ p.16 <0 end force
™ : at 100% Cu at 100% Cu
Q)= |
+03 T
o4 0 | | e 0l
- ~ o
\ Dropn ) ' 038x03 | T
71.50 + .01
'ogv;g%’g'APvaax' 777777 Pmin S  SPM MaxSpeed Maintenance kit
1 1 % 2t on | 200bar 20 bar © 491cm?> | ~40-80 !
N 5w s e s ome | wawg | 'Sms | dmwwoc
_CALLOUT G L Lmn F  F; ., F,_. Vo =
! i i i i i i p i i ] !
ﬁ - Initial force §Endforce* §Endforce**§ @ I’—EI]
mm inch mm inch mm inch daN b daN b daN b cm in?  ~kg b SWEE

GSML1000-10-N 10 039 95 374 8 335 gg9 oy 1371 3087 1542 3467 220 134 052 115
GSML1000-15-N 15 059 105 413 90 35 455 1500 3372 1719 3864 270 165 055 121 v
GSML1000-25-N 25 (098 125 49 100 39 1687 5793 1981 4453 360 220 060 132 v
GSML1000-38-N 38 150 155 610 117 461  200bar 1768 397 2095 470 520 317 068 150 v
GSML1000-50-N 50 197180 709 130 572 2900psi 1854 4169 6 2220 4997 640 390 075 165 v~
GSML1000-63-N | 63 248 225 866 162 638 _ | ‘ ‘ 49 Y N
GSML1000-80-N 80 375 260 1024 180 709 *20°C+68%F 1700 goo1 2127 4782 1070 653 098 216 v

Order Callout Example:

GSML1000 GSML1000
1982 2382
50 50
38 80 2182 %

1782 63
z 25 3 =z 25
K] § 192
8 8
& 158 15 & 1782
2 2
2 o
2 o
H 5 10
F e 10 S 1582
I &
5 3
2 o 1382

1182

1182 W
982 982
0 5 10 15 20 25 3 3 40 45 50 55 60 65 70 75 80 8 0 5 10 15 20 25 8 3 40 45 50 55 60 65 70 75 80 8
STROKE [mm] STROKE [mm]

o



GSML 1808

M6 X 8 (4%) =
035
01.38 P
‘ § vz
[ 1
3 | ool Drop-In Bottom mount
[ : :
i i
i i
| % %
e ~N 8= | |
O ? p. 84 ) : FSA50 - FSD50 FSD50 + R50A
A I A ! FSE50 FSE50 + R50A
¢ E { e
i * F1i = * F1p =
« |  Isothermal Polytrophic
Al . '
Through plate | endforce 0C5 p.16 <0 end force
| : at100% Cu at 100% Cu
K
+03 — G1/8”
053 0 | | 050 +03
\_ Drop-In ) 01.97 + .01

gg"r%'ggap;pmax; ””” Pmin S SPM MaxSpeed Maintenance kit
A 2f '
80

200bar | 20bar | 9.62cm? | ~40-80 :
2000psi 200psi 149 @taoegy | ems  GSRK-39BMMLO1800C

CALLOUT G L Lmm F  Fy, F, . Vo BEn
! i i i i i i p i i ] !
ﬁ . Initial force End force ™ §Endforce**j @ PED

‘mm jnch i mm jnch i mm i jnch i daN ¢ /b i daN @ /b i daN i /b om® i in® i ~Kgi ~b |

GSML1800-15 | 15 059 95 37 80 315 1925 437 : 2818 6334 3200 7194 570 348 076 168 v
GSML1800-25 25 098 115 453 90 354  +5% 3182 /I 3706 8331 750 458 085 187 v
GSML1800-38 38 150 150 591 fi2 441, 357 721 31 87 110 67 101 228 v
GSML1800-50 50 197 175 689 125 492  jgpppe 3451 7758 4087 9168 1340 8V 112 247 v
GSML1800-63 | 63 248 205 807 142 559 (3546 7972 4224 9496 1630 994 126 278 v

v

GSML1800-80 80 3715 245 965 165 650 +20°C +68°F 3619 8136 4329 9732 2010 1226 144 317

Order Callout Example:

GSML1800 GSML1800
3024 4674
4424
3674 & 80 63
50 a174 o
g e P % 024
2 2 2 25
3 g 3674
8 3174 8
2 2
4 Q@ 3424
o 2024 1 Iy 15
S S g e
& @
& 2674 £ 2024
& 5
2 2424 2 2674
2424
2174
2174
1924 1924
0 5 10 15 20 25 8 3 40 45 50 55 60 65 70 75 80 8 0 5 10 15 20 25 8 3 40 45 50 55 60 65 70 75 80 8
STROKE [mm] STROKE [mm]

@



GSML 1868 N

—Linkable G1/8"—

” DD
M6 x 12 (4x) ' 0138 2
\ £
3 | -l
! = . Drop-in FFCA50 - FT50
””’!”” i Bottom mount FFC50 - FTP50
‘ ‘
o ‘ % %
|
S ‘ :
g N S|+ | i
. 84 : ‘ FSA50 - FSD50 FSD50 + R50A
A 7o = | 1 FSE50 FSE50 -+ R50A
',/1 — | ' ”””””””””””””””””””””””””””””””””””””
4 . — *% _
| 043 i F1;= F1,=
o | 71.69 - Isothermal Polytrophic
"~ Through plate /S : “endforce 0C5~ p.16 <D end force
- o ' at100% Cu at 100% Cu
o5 |
+03 N pas g‘;
053 o 050 +03 -l
\_ Drop-In Y, 01.97 +.01
'og'g%’g'AP'Pmax' ””” Pmn S  SPM MaxSpeed Maintenance kit
‘ R on | 200bar |  20bar | 962cm?> | ~40-80 i
oMo 5§ =0T ey mow | dasrie | ovy | 'Oms | GoRKasBMMLOWNC
CALLOUT Cu L Lmin Fo F1; Flp,, Vo0 T
1 Initial force | Endforce ~ : Endforce . —
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, mm  inch mm  inch mm ch daN | b daN b daN b omt | in’ kg b TVRE
GSML1800-15-N | 15 059 115 453 100 394 1925 4377 2818 6334 3200 7194 5710 348 103 27 ~
GSML1800-25-N 25 (098 135 531 M0 433  =5% 3182 7i54 3706 8331 750 458 12 247 v
GSML1800-38-N 38 150 170 669 182 520 .. =~ 3267 732 38N 857 M0 67 128 282 v
GSML1800-50-N = 50 197 195 768 145 571 Ooppnc; 3451 7758 4087 9168 1340 877 139 306 v
GSML1800-63-N | 63 248 225 886 162 638 3546 7972 4204 9496 1630 94 153 3% v
,,,,,,,, GSML1800-80-N 80 315 265 1043: 185 728 :+20°C +68°F 3619 8136 14329 9732 :201.0 1226: 111 37 v
Order Callout Example:
GSML1800-50-N
GSML1800 GSML1800
% 2674 % 2024
STROKE [mm] STROKE [mm]

s



GSML 30080

M8 X 8 (4x)

E
045 5
0177 =
[
=] | Drop-In Bottommount ~ FSC63 - FSD63
(5] | O e
| A :
,,,,,,,,, ] . — *% —
! i F1;= F1,=
! - Isothermal Polytrophic
| endfoce (CF~ p.16 <0 end force
8= | . at100% Cu at 100% Cu
o o i '
- N A |
A 7 ops = |
— !
& i
!
|
N Through plate |
&
L G1/8”
06303
0 2.48 + .01
ogsg ””” T AP Pmax | Pmn S  SPM MaxSpeed Maintenance kit
§ i < il on | 200 bar 20 bar 15.90cm? | ~40-80 i
oMo 5w 203 ey mew  2asdr | ovy | 'O™S | CSRKSSBMMLIG
CALLOUT Cu L Lmin Fo F;, F, Vo T
i Initial force : End force ~ : End force | —
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, mm inch mm inch mm ch daN - b daN b daN b om i’ kg b TR
GSML3000-15 P15 0590100 394 8 335 3180 7149 4450 10003: 5007 11256:106.0 647 : 125 276 v oo
GSML3000-25 25 098 120 472 95 37 5% 4996 11231 5757 12942 1360 830 138 304 v
GSML3000-38 38 150 150 59 112 441,00 530 12005 6239 M2 1850 1129 157 346 v
GSML3000-50 50 197 180 709 130 412 ogpppg 5468 12292 G419 14430 2350 M3 178 392 v
GSML3000-63 | 63 248 210 827 W1 579 5633 12664 6654 14950 2830 1726 198 437 v
,,,,,,,,,, GSML3000-80 | 80 315250 984 170 669 :+20°C +68°F 5766 12963 6844 15366:349.0 2129 224 494 v
Order Gallout Example:
GSML3000-50
GSML3000-50-CP
GSML3000 GSML3000
§41m %4681
STROKE [mm] STROKE [mm]

o



GSML 3608 N

—Linkable G1/8"—

G1/8” 3N 0 45 .
M8 X 12 (4x) ' 01.77 E
| £ | .
2 | % %%,
o | N
L ™ Drop-In Bottom mount
i
\
71.34 \
\
&= \
OQ
(A cr st ) S | FFC63 - FFCAG3
— E | FFCB63 - FT63 FSC63 - FSD63
7 S S e
| 1
~ | 00)2520 P **Fp =
Nl .
Through plate - \ . Isothermal Polytrophic
0| 1 endforce I3 p.16 <0 end force
@ I ' at100% Cu at 100% Cu
066 *0° _ | wl
| ™ S
I\ Drop-in 06303 | —
02.48 + .01
'ng;;%’g'APvaax' 777777 Pmin S  SPM MaxSpeed Maintenance kit
‘ ] € i on | 200bar | 20bar | 1590cm*> | ~40-80 | i
oMo 5§ o 0 e s | 2 vy | MSms | CoRKSSBMMLOOG
_CALLOUT G L Lmin F  Fy. F,.. Vo ==
! i i i i i i p i i ] 3
- Initial force §Endforce* §Endforce**§ @ I’—EI]
o mm b mmoh mmojch daN b daN b daN b o i kg b PO
GSML3000-15-N 15 0.59§ 120 472 105 4.73§ 3180 /7749 14450 70003%5007 77256%106.0 6.47% 1.67 3.58§ v oo
GSML3000-25-N | 25 098 10 551 115 453 5% 4996 11231 5757 12%2 1360 830 180 397 v
GSML3000-38-N 38 150 170 669 132 520 . 530 12005 6239 1026 1850 11291 200 441 v
GSML3000-50-N | 50 197 200 78 150 591  ogpe 5468 12292 6419 144302350 M3 220 485 v
GSML3000-63-N | 63 248 230 906 167 657 5633 12664 6654 74959 2830 1726 240 529 v
,,,,,, GSML3000-80-N | 80 315 270 1063 190 748 ' +20°C +68°F' 5766 12963 6844 15386:349.0 2129 266 586 v
Order Callout Example:
GSML3000-50-N
GSML3000 GSML3000
g 4181 % 4681
STROKE [mm] STROKE [mm]

H



GSML 4708

M8 X 8 (4x)
0 56
0220
[
3 Bottom mount - FB75
S ‘ | FBA75 - FBB75
I ' FBC75 - FBD75
I
i
| %
9|~ \
f \ o S '
A T o R T FSA75-FSD75  FSD75+ R75A
= ! FSE75 FSE75 + R75A
2 — \ T
} * F1i = *k F1p =
(-] | !
Al : . Isothermal Polytrophic
Through plate | ~endforce 0CF p.16 <D end force
! .~ at100% Cu at 100% Cu
K 1
@79+83 D75=03 I
\_ Drop-n ) 0295+ 01

g;*'r%"ggapgpmax; ””” Pmin S SPM MaxSpeed Maintenance kit
A 2f ' |
80

200bar | 20bar | 24.63cm*> | ~30-70 :
2000ps | 290psi | 3817i | @a20q) | 0m™s . GSRK-39BMMLO4700C

CALLOUT ~Cb L Lmn FO  F;_, F,.. Vo BDED.
ﬁ  Initial force iEndforce* §Endforc':a**‘ 5 @ @
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, mm | jch mm | nch mm | ch daN b daN b daN | b em i’ kg b "N
~ GSML4700-15 | 15 059 100 394 85 335 4925 11071 (6966 15660 7856 17667 1590 970 172 379 v
GSML4700-25 | 25 098 120 472 9 374 =5 7858 17665 9085 2424 2050 1251 190 419 v
GSML4700-38 38 15 150 591 112 441 0 8432 1896 9891 22236 2780 1696 217 4B v
GSML4700-50 50 197 180 709 130 512 gpppg 8651 19448 10201 22933 3530 2143 244 538 v
GSML4700-63 | 63 248210 8Z 141 579 18929 20073 10598 23825 425.0 2593 272 600 v
GSML4700-80 | 80 375 250 984 170 669 | +20°C +68°F 9155 20581 10922 24554 5230 3190 308 679 v

Order Gallout Example:

GSML4700 GSML4700
9426 0 11926
63 o
)2f
8926 " 50 10926
50

g™ g ous %
g 25 g
S o s
8 926 8 25

8926
Q 7426 Q
2 15 o
z 6o & 706 s
& 2
£ 6426 5
2 Q 6926
5026
5426 5026 %
4926 4926

0 5 10 15 20 25 8 3 40 45 50 55 60 65 70 75 80 85 0 5 10 15 20 25 3 3 40 45 50 55 60 65 70 75 80 8
STROKE [mm] STROKE [mm]

m



GSML 4768 N

—Linkable G1/8"—

G1/8” 2N 056 £
M8 x 12 (4x) ' 0220 z
— <
!
S | ™| B FB75
[ ™ : ottom mount -
,,,,,,,,, ! " FFC75-FT75
! Do IRAT-ERTS rroaTs-FTPTS
[ :
0157 | |
| ST
8| ! ?
(A or e ) S | - FSAT5-FSD75  FSD75+R75A
£ | - FSEr FSE75+ R75A
'//1 — e
‘ 067 *Fy= il S
0/3 Through plate ; f2.64 3 Isothermal Polytrophic
0| 1 endforce (5 p.16 <D endforce
A\ : ) 0
4@77777 % at 100% Cu at 100% Cu
079 "¢’ =% | 2%
75+03 —
Drop-In
\_ P 029501
";§¥°3'AP'Pmax' """ Pmn S  SPM MaxSpeed Maintenance kit
: g L E T op | 200bar - 20bar = 2463cm® | ~30-70 i
oMo 5§ w 0BT gy mow  agvie | mawg | 'Ome | GSKIdBMLATOC
CALLOUT G L Lmn F  F;_. Fy,.. Vo |
! : : : : : : p : : ] :
' Inifalforce  Endforce ™ Endforce ™ | @ ip—E
o mm ch mm jh mm nch daN | b daN . b daN b om in® kg -p DWEH
GSML4700-15-N 15 059 120 472 105 413 4925 11071 6966 15660 7856 17661 1500 970 234 516 ‘
GSMLA4700-25-N 25 098 140 551 115 453  +5% 7858 17665 9085 2424 2050 1251 251 553
GSML4700-38-N 38 150 170 669 182 520 ...~ 8432 1895 9891 22236 2780 169 275 606

GSML4700-63-N | 63 248 230 906 167 65 18929 20073 10598 23825 4250 2593 333 734 |
GSML4700-80-N | 80 315 270 1063 190 748 +20°C +68°F 9155 20581 10922 24554 5230 3190 370 816

v’

v’

v’

GSMLA700-50-N = 50 197200 78 150 591 Doggppsi | 8651 1944810201 22933:3530 2153 306 675 v
: 892 v’

v’

Order Callout Example:

GSML4700 GSML4700
9426 80 11926
63 a0
)21
8928 50 10926 6
38 50
s 25 3
o 7926 u 25
2 2
2
8926
Q 7426 Q2
2 15 Qo
z 6e26 & 7026 1
g 2
g 6426 5
2 Q 6926
5026
592¢
5426 926 %
4926 4926
0 5 10 15 2 25 3 3 40 45 50 55 60 65 70 75 80 85 0 5 10 15 20 25 3 3 40 45 50 55 60 65 70 75 80 85
STROKE [mm] STROKE [mm]

.



GSML 7508

M8 X 8 (4x) .
P §
070 B
0276 g
‘ - zz
]
a3 ‘ NN Drop-In Bottom mount
\ : :
T i
| % %
\ :
- N & | e e
A @ p. 84 a + \ ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, + ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
- = | * *k
2 E ‘ F1;= F1 n=
| . Isothermal Polytrophic
- | endforce UCF p.16 <0 end force
A~ Through plate i i at100% Cu at 100% Cu
i H
&
+03 — G1/8”
0 09503
Drop-In
\_ | 03.74 =01

o® Fgt AP Pmax Pmin S  SPM MaxSpeed Maintenance kit
‘ﬁ N, . .

i i on | 200bar | 20bar | 38.48cm* | ~20-60 : ]
N2 @ w 0BT g ops  sedin | ez | MO™S  GSRKC30BMMLOTSOOC

- CALLOUT  Cu L | Lmin | Fo  F;_, F Vo a1

ﬁ . Iniialforce ~ End force ™ Endforc':a** @ I’—En

. mm h mm jmh mm ch daN | b daN . b daN b om i’ -Kg b VB
GSML7500-15 15 059 115 453 100 3% 7700 17310 10289 23131 11469 25783 2910 1775 330 728 N
GSML7500-25 25 098 135 531 10 433  *5% 11499 25657 13116 2%86 3650 227 358 789 v
GSML7500-38 38 150 165 650 127 500 o 12377 2825 14333 3222 4810 2931 401 881
GSML750050 | 50 197 190 748 10 551 Dgpppg 13130 29517 1391 34600 5750 3508 436 961 v
GSML7500-63 | 63 248 220 866 157 618 13557 30477 15996 35960 6910 4215 475 1047

,,,,,,,,,, GSML7500-80 80 315 260 1024 180 709 +20°C 468 13910 31271 16500 57U 6740 B3 536 1% v

Order Gallout Example:

GSML7500-50

GSML7500-50-CP

. GSML7500 - GSML7500

5 S 1

STROKE [mm] STROKE [mm]

o



GSML 75088 N

—Linkable G1/8"—

G1/8” 3N 070
M8 x 12 (4X) ' 0276
o | :
N ; ) FFCA9S - FT05
7 Dropen Bottommount  Frco5 - FTps
i 1
! i
02.05 ‘
! i
8= | ' FSAS5-FSDO5  FSD95+RI5A
(A o ops ) |3 | - UFSESS FSE95 + RI5A
- et ettt
2 E ‘ * F1= **F1) =
— [ : !
| ! Isothermal Polytrophic
i Through plate ‘ 087 - end force 5 p.16 <0 end force
e | 0343 at100% Cu at 100% Cu
TN | :
=)
099 *0° ;
Drop-In o & iy
- j 095=+03 -
7 3.74 + .01
'QE'g%‘g'AP'Pmax' """ Pmn S  SPM MaxSpeed Maintenance kit
3 ] € i on | 200bar : 20bar | 3848cm2 | ~20-60 i
ColNe 5§ a s0BWC upg o sesr v 1OMS GSRKIMBMMLOTSOC
CALLOUT G L Lmn FO  Fy., F,.. Vo =t
! i i i i i i p i i ] !
§ § § ' Inifalforce  Endforce™  Endforce ™ 3 @ I’—EI]
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, mm o nch mm o ch mm o nch daN | b daN b daN b om i’ kg b VM
GSML7500-15-N 15 059 135 531 120 472 7700 17310 10289 23131 11469 25783 2910 1775 432 92 v
GSML7500-25-N 25 098 155 G610 130 512  +5% 11499 25857 13116 29486 3650 2227 460 1014 v
GSML7500-38-N | 38 150: 185 728 W41 57: Lo 12377 27825 14333 32022 4810 2934 5.03 1109 v
GSML7500-50-N 50 197 210 87 160 630  ogppps 13130 29517 15391 346005750 3508 538 1186 v
GSML7500-63-N | 63 248 240 945 171 697 13557 30477 15996 3960 6910 4215 581 1281 v
,,,,,,,, GSML7500-80-N . 80 315 280 1102 200 787  +20°C +68°F 13910 31271 16500 37093 8740 5331 639 1409 v
Order Callout Example:
GSML7500-50-N
GSML7500 GSML7500
Ewm97 15 E:;:Z 1
STROKE [mm] STROKE [mm]

s



GSML 126400

M10 X 8 (4x)
? 90
0 3.54
1 7
|
3 | N Drop-In Bottom mount ~ FSA120 - FSD120
| S
| *Fiy= il 3 S
i . Isothermal Polytrophic
9| i endforce 05~ p.16 <O end force
KA OF pes ) s|® i - at100% Cu at 100% Cu
— c ‘ :
Z 5 |
i
w i
"' Through plate |
|
) — G1/8”
o124 '6’ 0120 =03
\_ Drop-In Y, 04.72 + .01

g;*'r%"ggapgpmax; ””” Pmin S SPM MaxSpeed Maintenance kit
A 2f ' '
80

200bar | 20bar | 63.62cm* | ~20-50 :
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 200ps | 20ps 9861 | @y VoM GSRKI9BMMLIZONOC

Initial force §End force §End force

CALLOUTﬁ G L Lmm  F Fy ., Fy.. Vo A PED

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, mm | jch mm | ngh mm | ch daN b daN b daN | b em i’ kg b "OH
~ GSML12000-15 | 15 059 115 453 100 394 12720 28395 17877 40189 20134 45263 M70 2544 582 1283 v
GSML12000-25 25 (098 135 531 10 433 5% 20211 45436 23346 5484 5340 3257 629 1387 v
GSML12000-38 38 150 165 650 127 5 .o 21787 48979 25558 57457 7180 4380 101 1545 v
GSML12000-50 50 197 195 768 145 571 pgppg 22429 50422 26470 59507 9060 527 T4 1706 v
GSML12000-63 | 63 248 225 886 162 638 23211 52180 27586 62016 1089.0 6643 846 1865 v
GSML12000-80 | 80 315 265 1043 185 728 +20°C +68°F 23860 53639 28520 64116 1335.0 8144 943 2079 v

Order Gallout Example:

GSML12000 GSML12000
24723 30723
80
63 80
N 28723 63

22723 28 50
= E.26723 38
8 8
i 20723 o 24723 2
<] 8
2 2
813723 o 22723
2 °
] 1 & 20723
H
[ e
£ 16723 5 18728
o o
2 e

16723
14723

14723
12723 12723

0 5 10 15 20 25 3 3 40 45 50 55 60 65 70 75 80 8 0 5 10 15 2 25 3 3 40 45 50 55 60 6 70 75 80 8
STROKE [mm] STROKE [mm]

o



GSML 12808 N

—Linkable G1/8”—

 Fixings
2 090 £
0 3.54 P
_ > | H
G1/8" o ‘ o/
M 10 x 12 (4%) == Bottom mount
|
7268 !
|
8| |
p. 84 +H |+ }
A & i ! | )
% = | . FFGA120- FT120 )
A ‘  FRC120-FTPi2g  FSM20-FSDI0
; 9112 S
o~ i 04.41 *F1= **F1p=
Through plate 0| ; | .
: : i Isothermal Polytrophic
1{@ —<T endforce U5 p.16 << end force
! . at100% Cu at 100% Cu
03 o|& | m““ 3
R X+
0124 "0°| | C 912003 | &
\_ Drop-In ) 04.72 + .01
o™  FgTt AP Pmax Pmn S  SPM MaxSpeed Maintenance kit
| 2 x 0  200bar  20bar = 6362cm? | ~20-50 |
N2 @ o *0BWC ey wps | ggsri  @acg | MO CSRKANBNMLIZ0C
CALLOUT = C L  Lmn F  F,. F,. Vo 0 ==
! i i i i i i p i i ] !
| ﬁ 1 ' Inifalforce  Endforce ™ Endforce ™ 1 @ FPED
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, mm | jnch mm oh mm  ch  daN b daN | b daN . b om | in -Kg b "R
GSML12000-15 15 059 135 531 120 472 12720 28595 17877 4018920134 45263 M70 2544 145 1642 v
GSML12000-25 25 (098 155 610 130 512  +5% 20211 45436 23346 54845340 3257 792 1746 v
GSML12000-38 38 150 185 728 W1 5% .. 21787 48979 25558 57457 7180 4380 864 1905 v
GSML12000-50 50 197 215 846 165 650 gpgpg 22429 50422 26470 59507 906.0 5527 931 2066 v
GSML12000-63 | 63 248 245 965 182 717 123211 52180 27586 62016 1089.0 6643 1009 224 v
,,,,,,,, GSML12000-80 80 315 285 1122 205 807 :+20°C +68°F 23860 5363928520 64116 13350 8144 11.06 2438 v
Order Callout Example:
GSML12000-50-N
GSML12000 GSML12000
N
5 10 15 20 25 30 35 S:'?ROKET:‘"‘] 50 55 60 65 70 75 80 85 1228 0 5 10 15 20 25 30 35 S:-[;OKE?:"“] 50 55 60 65 70 75 80 85

s



Special kit to convert self-contained cylinders
Spezial-Set zum Umbau eigensténdiger Zylinder

Kit spécial pour transformer les cylindres autonomes
Kit especial para transformar cilindros autdnomos
Kit especial para transformar cilindros autonomos

G1/8"

GSFML 1000

20
79
5

L
o

1

105
41

025
0.98

G1/8"

GSFML 1800

Lo

20

20

79

10.5
417

026
a1

49
19

GSFML 3000

G1/8"

5
20

20

79

10.5
41

034

M8 x 12 (4x)

5.5
2

GSFML 4700

G1/8'

5
20

20
79

10.5
417

p40

GSFML 7500

G1/8"

Xe]

20

20
79

10.5
41

095+03

0374 +.01

052

M8 x 12 (4x)

5.5
22

GSFMIL 12000 i

20
797

0.5
Kl

Vaan 1
\\




